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1. (10%)Aisa 2x2 matrix with | Al=3, determine (a) |2A|=? (b) |A*|=?

0 3 -1
2. (10%) B=|1 0 1 [,determine inverse of matrixB,ie, B™"="?
1 -1 0

1 -2
3. (10%) Find eigenvalues and eigenvectors of C :[ 5 1 ]

1 -2
4. (10%) Orthogonally diagonalize C:[ 5 1]

5. (10%)
(@) Show the three functions p(x)=2e*, q(x)=3e*,and r(x)=coshx are linear dependent
(b) Show that f(x)=4x*—-3x—9 lies in the space span generated by g(x)=2x?>-3 and
h(x)=x+1

6. (10%) Solve y"-6y"+12y'—8y=0

1 0<t<?2

dy
7. (10%) Sol 2y="f(@t) , y(0)=0, f(t)=
(10%) Solve +2y=f(t) , y(0) (1) {0’ 52

dt

8. (10%) Solve y"+y=¢"+e™*

dx
—=-y+t
9. (10%) Solve dc}
y
—=X-t
dt

10. (10%) Solve f(t)=2t—3j0‘sinr f(t—7)dr
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